| Choose the correct answer from those given :

( 1 ) The conjugate of the number (3 i —4) is oo

(a)3i+4 (b)—-3i—-4 (c)—-3i+4 (d3i-4
( 2 ) The additive inverse of the complex number (4 — 7 i) i§ «oreeeeee

(a)4+7i1 (b)—4+7i1 (c)—4-7i (d)4-7i
(31 +i+iP+iP+it=n

(a)4i+1 (b) -1 (c) 1 (d)5
(4)If12+3ai=4b—-27isthena+b=--woe.

(a)—9 (b) 12 (c)—-6 (d) 6
( 5 ) The conjugate of the number (— 8) is ----roeee

(a) 8i (b)—8i (c)—8 (d) 8

( 6 ) Which of the following is an imaginary number ?

(a) 7T ®Ys ©YV-5 @ i’

(7)5i’+4i!'=....

(a)9i (b)—-9i (c)i (d)—i
() IFA+iHAQ—-iD=X+yisthen X 4+ y = creeree
(a) 4 (b) 3 (c) 2 (d) 1
(9)If X >y are realnumbersandx+yi=i43+3 —4 sthen X 4+ y = «oreeneee
(a) 3 (b)5 (c)3+2i
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